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> a:=3;

b:=2;

3*a+4xb;

b:=2
17
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el 30002000000003*xae+4+xb0 000000000
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Jr—x=300000000 000000

3xr—2r=302000000000 (solve)d
ugoaoon
> solve(3*x-x=3,x);
3
2
OO0 MapleDODOOOOOOOODOO
(-2 =24z +4
22 —3r+2=(x—2)(z—1)
00000 (expand) DO OO0 (factor) DOOO0O0O0OOOOOOO
> expand ((x-2)"2);
a? — 4z + 4
> factor(x"2-3%x+2) ;
(x—1)(x—2)
000000000000 000 (normal) O

> normal(1/a+1/b);
b+a
ab
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udooboogooaoon

ar+br—c0 200000000 (collect) OO
uogoooon

> restart;
collect (a*x+b*x—c,x) ;
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> plot(4*x+3,x);
oooo

FIGURE 1. plot 000

000000000000 (diff) 000 (int) O
> diff (4*x+3,x);

> int (4*x+3,x);
222 + 3z
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> eq2:=int (4*x+3,x);
eq2 = 22% + 3z
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> solve(eq2,x);
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00000000000 000ooo0oDoo0oooO MapledOOGOOO

2. 000000.00000D0ODODOLOODO

. oh [ 2 % 3 ]
(3) j = 02/0 /0 /0 W cos(¢) sin(¢)drdfdeo

oooooobeb oD OOOOOODO

2 z
(4) / / * Alcos(4) sin(¢)ddde = Alr
0 0
0o0o0Oo000O0OO0
. 2wh [ V3
(5) =y
c 0 €exp (W) -1

0000000 v=%L0000000dv=%dz00000

kATt [0 3
. q
(6) J c2h3 /0 exp (z) — 1 v
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0 $3 7T4
" dr=—
@ /0 exp () — 1 ST
000000
(8) j o= ol
2 ok
©) 7T e

OO0000DOOD Wikipedial O O O Stefan-Boltzmann lawO O 0 0 0O O

33. 0000Maple0000D00. OODOOOODOOODOOOOOODODO MapleO O
ubooobooobobooobouoobobbuosbuobbobooboobbboboan
ubboobuodgboobbooboobbooboobboon

> restart;
nu:=x*k*T/h;
cdx:=diff (nu,x);

kT
h

kT
dr == —
cdzx .

g0ooo0oO0oooooooooOOoOoUoUooooooooOoOgo zzggﬂ 000 coeff0 O
0:0300000000000000D0000000O0

> c1:=A2xx"3/(exp(x)-1);

coeff(cl,x"3);

V=

A2z3
cli=———
exp (z) —1
Error, unable to compute coeff
000000000000 0DO00 A20000000
> coeff(cix(exp(x)-1),x"3);

A2

34.000.0000000000000000000000O000O

> restart;
eql:=int (int (A*sin(phi)*cos(phi),phi=0..Pi/2) ,theta=0..2%Pi);

eql := An
000000000 DOO00D000 PlanckOOODODOOODOO
> eq2:=2xh*nu~3/c"2/(exp (h*nu/k/T)-1)*Pi;
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2h v

2:=
T e () - 1)

ooodoooooooo
> nu:=x*k*T/h;
dx:=diff (nu,x);

xkT
u:::47;7
kT
dx =
0ooodoodd eq20
> eq2*dx;
223k T4

h3c2(exp(x) — 1)

000000000 oooooooooboooooobbooooooooon
OO0 MapleOODOOOOOOOOOOOO

> eq2xdx*(exp(x)-1);

203k T
h3c2

0oodoooooooooon

> cl:=coeff (eq2*xdx* (exp(x)-1),x"3);

2k T4
cl i= ————
h3¢2
ugooooboboooboboon
> eq3:=eq2+*dx/cl;
3
x
3i=———
“d exp(z) — 1

O0oooogooo
> eq4:=int(eq3,x=0..infinity)*cl;
2 mOkT
15 h3¢2
0000000000000 0O0O00000 s 0DODOODODODOOODODODODODOODOO

> h:=6.6261%10"(-34) ;
k:=1.3807%10"(-23);
€:=2.9979%1078;

evalf (coeff(eq4,T"4));

h := 6.62610000010 34
k := 1.38070000010~23
¢ := 2.997900000108
5.67122865610~8

eqd =

oood



0000000 MAPLEOOOODOOO 7

e

“Q\ HUWHEE < D &,

- Rand
BN
BULBEE RS KD &

Ficure 2. 00 0O0O0O0OO0OOOOOOOOO

Jo . 00. 00000 2000000000000 DODOO0ODOODOOOODOOOOO
uboooboooboooooboooboooobooobooobo 3boboboboonooonboo
gboooboooooboooboooboobooboobobooobooboboobaon
oo eboonooooobDoOoooboobooboogslgg3booobooooonoo
ubooobooobooooboooboboboobooboboobooboobooobooan
ubooboooboooboobobobooboobooobooboboobooboboooon
uobobooobobooobbooobbooobbooobbooobbooobboa
ubooboodboobooboboobobobobilio2bgoobooboobooboboan
ubboobuoobobooobooboobobooboobobooboanobg

uobbooooobobobuoooobobbooooobbobouoooobobogo
gbogbuobgbooobobooobuoobuoobobobobbobbobooboobo
gboodgbobooboobuooboboboboboobooboobooboboan
ubodgbuodgbuobouoobobuoobooboobooboobobooboobab
gooooooooood

4. 0000000 Oo0n

gbooboobobooboboooboboooobobooobooboooboboooon
ubooboooboobooboboobooobooboooboooboobboboooobooan
uboboobooboboobooobboobooonoobooooobooboooooboooo
ubooobooboooobobooboooboooboobobobboboobooan
ubooobooobooobooboobobobobooooboooboobooobooobooo
ubbooboobbooboobbooobooonboo

gbobooboobobooboboboboobooboboobobooboboo
uboooboooobooboobobboobboboobobooboobooobooo
uboooboobobooboboobooboboboobooboobooboboon
ubobodobooboobobbooboobooboobobooboooooboonoo
ubodbooboobobboobooboouooboobobooboobobbob
ubogbuobooboboobooboobooooboobooboobuooban
ugbboobuoobbooboobbooboobbooboobboooboaob

gobooboogboboooboooobooboooboobobooboooooboo
gbooobobboooboobboobooboboooooobobobobbooboboo
gboooboobboobobooogobooooboboooobobobooboboobooonoo
gbooooobobooboobooboboobobobooooboobobobooooobooon
gboboobooboobmboooobooboboobmoooboooobon
gboooboobogoboooobooooooboboooobobooboboooonoo



8 goooooooooobooo

O0000DMOo0O0U0O0 0000000000000 U0oO0O0DUoOoUooOoUoo
gooobobooboboobobooobobooboobooboobobobobo
gooooboobooooobooooboboboooobooboobboobooon
goboobooboobbooboobbooboooboboo
gbooooboobobobobbobooboboobooboobooboboo
goboobooobooboboobbooboooobooobooooboboUoD Maple O
oobooboobogbobodboobonouoboboboobouoboodMapledooog
oobodbobooboobooboobooobooboobobooobonD MaplebooDoooog
0000000000000 0mO0LO0o00o00 Boooooooooooooo
gbooboooboooboboobobooboobobooboobooobooooboo
booobooboboooooboobobooboboobooboobooobooan
oboooooboboooboobooobboooboboooobobooobooobbooon
uboooboooboobooobooooboobooboooboboboboboobboboan
ubooboobooboooboobobooobaooobooo
gbobooboobobooboooboboobooooboboooobobooooboonoo
booobooooboobooobooobooboooboobooooboooobogoon
booboobuoobooobobooboobuooboooobuoobooboobon
gboooboobobobboboobuooboooobobbobooboooboon
0000000000000 0000O0O000O0O0OO0OOOODODOOOOOD 4joooo
goboooboooooboonoobooboooobooboboooboboobooboooDo
gbogboboboobbobbobbobbobboobbobuooboobobbod
gooooboboboogoobooboobooboobobbobobooboboboooobonn
gbooboobuoobouooboobooboboobooboboobooboobaon
goboobooogoboboooooobooooboboooboboobooboooboo
Maple 00O UOODOO0OOODO (00000000 0DOOO0OO0OOOOOOOODOOOO
gbooboooboobooooooboooooooobooboboobooboobon

REFERENCES

(1) DOoO0O0,00000000000000,000,2008.
2] DDOO0DO0O0OO0OO0O0OO0O0OOOOO0O00000O0000000000000,000002007,0 p.31.
3] DOO0O,0Maple000000000000,000000000000000, Vol.13(2002), 33-39.
(4] B.OOOOODOOOO,00000000 100000000000000000,000£0, 2005.
[f) DO0O0OO0,000000 MapleO' OO,

http://ist.ksc.kwansei.ac.jp/ nishitani/Lectures/Maple/BottomLine0.html.



